HEE2S3 = 11
HRXETH B LB A+ A BT TEMAEZEREESHIER
= | &= Eith M Dl AR [REF
ES  R& | WENHE el EENS BEHS BENS HEHA BEIA
1 FER LKA L+ BE F4E 0.70 0.70 0.75 0.80 0.80
2 FEER WHAE A+ BB FE 0.70 0.70 0.75 0.80 0.80
IFER WWHE A+HEHE /B 0.70 0.70 0.75 0.80 0.80
4 FEE LR AL+ EET {FH 0.70 0.70 0.75 0.80 0.80
5 FEE WK A+ BEE TEIF 0.70 0.70 0.75 0.80 0.80
6 FEE IWWHE L+ EET T8 0.70 0.70 0.75 0.80 0.80
7FEE LURE ATHAER HRE 0.70 0.70 0.75 0.80 0.80
8 FEE IUREH A+HAER FEE 0.70 0.70 0.75 0.80 0.80
9 FEE WREH L+ EH BT 0.70 0.70 0.75 0.80 0.80
10 FEER ILEE L+ BB FE=E 0.70 0.70 0.75 0.80 0.80
11 FEE LUERE A+HAEE HEE 0.70 0.70 0.75 0.80 0.80
12 FEE LR A+ABE BEE 0.70 0.70 0.75 0.80 0.80
13 FEE UK AL+ HhERT EEFHE 0.70 0.70 0.75 0.80 0.80
14 FEE LR L+ABE (X3 1.00 1.00 1.00 1.00 1.00
15 FEE LR L+ HhBH EE 0.70 0.70 0.75 0.80 0.80
16 FEE LR L+ABE FRE 0.70 0.70 0.75 0.80 0.80
17 FEE LERE A+ AEE BT 0.70 0.70 0.75 0.80 0.80




